
  

 

 

B.Com. DEGREE EXAMINATION —  

JUNE, 2010. 

First Year 

Corporate Secretaryship 

FINANCIAL ACCOUNTING 

Time : 3 hours Maximum marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What are the advantages of double entry system of 

book keeping? 

 Cµmøh £vÄ •øÓ°ß |ßø©PÒ ¯õøÁ? 

2. What are the differences between a bill of 

exchange and a cheque? 

 ©õØÖa^miØS® Põ÷\õø»US•ÒÍ ÷ÁÖ£õkPÒ 
¯õøÁ? 

3. What are the defects of single entry system? 

 JØøÓ £vÄ •øÓ°ß SøÓ£õkPÒ ¯õøÁ? 
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4. What are the objects of providing depreciation? 

 ÷u´©õÚ® JxURk ö\´Áuß ÷|õUP[PÒ ¯õøÁ? 

5. What are the differences between branch and 

departmental accounts? 

 QøÍ ©ØÖ® xøÓÁõ› PnUSPÐUSªøh÷¯ 

÷ÁÖ£õkPÒ ¯õøÁ? 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What are the differences between consignment 

and joint venture account? 

 AÝ¨¥kUS® CønÂøÚUS•ÒÍ ÷ÁÖ£õkPÒ 

¯õøÁ? 

7. Prepare an Income and Expenditure Account for 

the year ended 31.3.2009 from the following : 

Receipts and Payments A/c. for the year ended 

31.3.2009 

Receipts Rs. Payments Rs. 

To Balance b/d. 20,000 By Salaries 70,500

To Tuition fees 59,000 By Printing and  

To Fines 1,000        Stationary 700

To Grants from  By Library books 4,600

       State Govt. 30,000 By Postage and  

To Interest on          Telegrams 500

      Securities 300 By Newspapers 300
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Receipts Rs. Payments Rs. 

To Rent for use  By Science  

      of hall 1,000        equipments 500

  By New Building 5,000

  By Audit fees 300

  By Balance c/d. 28,900

 1,11,300  1,11,300

 31.3.2009 |õøÍ¯ ÷uv°À öPõkUP¨£mh 

ÂÁµ[PÎ¼¸¢x Á¸Áõ´ ö\»ÂÚ PnUQøÚ 

u¯õ›UP. 

31.3.09 •i¯ ö£ÖuÀ ö\¾zxuÀ PnUS. 

ö£ÖuÀPÒ ¹. ö\¾zxuÀPÒ ¹. 

C¸¨¦ R/öPõ. 20,000 \®£Í® 70,500 

PÀÂ Pmhn® 59,000 Aa_U T¼²®  

A£µõu® 1,000 GÊxö£õ¸Ð® 700 

©õ{» Aµ]h®   ¡»P ¦zuP[PÒ 4,600 

  ö£ØÓ ©õÛ¯® 30,000 u£õÀ ©ØÖ® u¢v  

¤øn¯[PÒ   ö\»Ä 500 

  «uõÚ Ámi 300 ö\´vzuõÒ 300 
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ö£ÖuÀPÒ ¹. ö\¾zxuÀPÒ ¹. 

Aµ\õ[P ÁõhøP 1,000 AÔÂ¯À \õuÚ[PÒ 500 

  ¦v¯ Pmih® 5,000 

  uoUøP Pmhn® 300 

  C¸¨¦ R/C 28,900 

 1,11,300  1,11,300 

8. Write up Sales Ledger Adjustment Account as 

would appear in General Ledger from the 

following : 

 Rs. 

Opening balance of debtors (Dr.) 25,200 

Opening balance of debtors (Cr.) 800 

Sales 62,400 

Sales returns 6,340 

Cash received from debtors 40,100 

Discount allowed 2,600 

Bad debts 7,420 

Bills received 2,600 

Bills dishonoured 600 

Closing balance of debtors (Dr.) 27,980 
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 ö£õx÷£÷µmiÀ Põn¨£k® ÂÁµ[PÎ¼¸¢x 
ÂØ£øÚ ÷£÷µk \›UPmkuÀ PnUøP u¯õ›UP. 

 ¹. 
PhÚõÎPÒ öuõhUP C¸¨¦ (£ØÖ) 25,200 
PhÚõÎPÒ öuõhUP C¸¨¦ (ÁµÄ) 800 
ÂØ£øÚ 62,400 
ÂØ£øÚ v¸¨£® 6,340 
PhÚõÎPÎhª¸¢x ö£ØÓ öµõUP® 40,100 
uÒÐ£i AÎzux 2,600 
ÁµõUPhß 7,420 
©õØÖa^mk ö£ØÓx 2,600 
©õØÖ^mk ©ÖUP¨£mhx 600 
PhÚõÎPÒ CÖv C¸¨¦ (£) 27,980 

9. A partner had withdrawn the following sums of 

money during the half year ended 30.6.2008. 

 Jan. 15 Rs. 300; Feb. 28 Rs. 250; Mar. 10  

Rs. 150; April 20 Rs. 400; May 16 Rs. 300; June 18 

Rs. 500. 

 Interest is to be charged at 8% per annum. Find 

out the average due date and calculate the amount 

of interest to be debited to the partner and the 

total amount payable. 

 J¸ TmhõÎ 30, áüß 2008 •i²® Aøµ¯õsiÀ 
RÌUPshÁõÖ £n® GkzxÒÍõº. áÚÁ› 15À  
¹. 300; ¤¨. 28À ¹. 250; ©õºa 10À ¹. 150; H¨. 20À  
¹. 400; ÷© 16À ¹. 300; áüß 18À ¹. 500.   

 BsiØS 8% Ámi Ãu® PnUQkP. TmhõÎ°ß 
\µõ\› uÁøn |õøÍ²® Ámiø¯²® PnUQmk 
AÁº ö\¾zu ÷Ási¯ ö©õzu öuõøPø¯ 
PnUQkP. 
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10. A firm purchased a machinery for Rs. 40,000 on 

1.7.96. 

 Depreciation is provided at 10% p.a. on fixed cost 

method.  

On 1.10.98 the machinery was sold for Rs. 25,600. 

 Prepare Machinery account for four years. The 

books of accounts are closed on 31st December 

every year. 

 J¸ {Ö©® 1.7.96À ¹. 40,000US J¸ C¯¢vµzøu 
Áõ[Q¯x. 10% ÷u´©õÚ® ÷|º÷Põmk uÁøn 
•øÓ°À PnUQh¨£mhx. 1.10.98À A¢u C¯¢vµ® 
¹. 25,600US ÂØP¨£mhx. |õßS BskPÐUS 
C¯¢vµ PnUøP u¯õ›UPÄ®. {Ö©® uÚx 
¦zuP[PøÍ Bsk÷uõÖ® 31 i\®£›À •iUQßÓx. 

11. On 25th April 1998, a fire occurred in the premises 

of a company. From the books saved by fire, the 

following facts were ascertained : 

 Rs. 

Stock on 1.1.1998 93,750 

Purchases (1.1.1998 to date of fire) 3,75,000 

Wages 1,12,500 

Sales from 1st Jan. to date of fire 5,62,500 

 The Gross profit ratio for the past five years were 

15% on sale. The stock salvaged was estimated at 

Rs. 28,125. Calculate the amount of claim to be 

lodged. 



 UG–616 7

 25.4.1998À J¸ {Ö© ÁÍõPzvÀ w Â£zx HØ£mhx. 

Â£zvÀ Põ¨£õØÓ¨£mh ¦zuP[PÎ¼¸¢x 

RÌUPsh ÂÁµ[PÒ ö£Ó¨£mhÚ. 

 ¹. 

öuõhUP \µUQ¸¨¦  93,750 

öPõÒ•uÀ (1.1.1998 •uÀ wÂ£zx |õÒ Áøµ) 3,75,000 

T¼ 1,12,500 

ÂØ£øÚ (1.1.98 •uÀ wÂ£zx |õÒ Áøµ) 5,62,500 

 Ph¢u I¢uõskPÎÀ ÂØ£øÚ «uõÚ ö©õzu »õ£® 

15% BP C¸¢ux. w°À Põ¨£õØÔ¯ \µUQß ©v¨¦  

¹. 28,125. Põ¨¥k E›ø© ÷PõµÀ öuõøPø¯ 

PnUQkP. 

12. Prepare Balance Sheet of a sole trader as on 

31.3.2009 from the following information : 

 Capital Rs. 75,000; Net Profit Rs. 15,000; 

Drawings Rs. 10,000; Creditors Rs. 7,500; Bills 

Payable Rs. 3,500; Bank overdraft Rs. 10,000; 

Cash in hand Rs. 1,000; Debtors Rs. 18,000; Bills 

Receivable Rs. 6,000; Buildings Rs. 40,000; 

Machinery Rs. 30,000; Stock on 31.3.09 Rs. 6,000. 
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 RÌUPõq® ÂÁµ[PÎ¼¸¢x 31.3.09À J¸ 
Â¯õ£õ›°ß C¸¨¦ {ø» SÔ¨ø£ u¯õ›UP. 

 •uÀ ¹. 75,000;  {Pµ C»õ£® ¹. 15,000; Gk¨¦  
¹. 10,000; PhÜ¢÷uõº ¹. 7,500; ö\¾zxuØS›¯ 
©õØÖ^mk ¹. 3,500; Á[Q ÷©ÀÁøµ£ØÖ ¹. 10,000; 
øP°¸¨¦ öµõUP® ¹. 1,000; PhÚõÎPÒ ¹. 18,000; 
ÁµÂØS›¯ ©õØÖa^mk ¹. 6,000; Pmih® ¹. 40,000; 
C¯¢vµ® ¹. 30,000; 31.3.09À \µUQ¸¨¦ ¹. 6,000. 

————— 


